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M.Sc. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.
THIRD SEMESTER
COMPUTER TECHNOLOGY
XCS 233 — DATA STRUCTURES
(Common to Software Engineering, Information Technology)
(REGULATIONS 2007)
(Also applieable to 2009 regulations)
Time : Three hours Maximum : 100 marks
Answer ALL questions.
PART A — (10 x 2 = 20 marks)

1. Write the advantages and disadvantages of sequential
allocation.

2. Distinguish between iterative procedure and recursive
procedure.

3. Write the application of priority queue.

4. Why doubly linked list is more efficient than singly linked
list with respect to deletion?
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11.

Draw a binary tree whose in-order traversal is BCA
and post-order traversal is CBEFDA.

Define m-ary tree.

Write the difference between reachability matrix
adjacency matrix.

Define (a) Multi graph (b) Sirongly-connected graph.
What is the use of buddy system?

Write the drawbacks of sequential access file.

PART B — (5 x 16 = 80 marks)
(a) (1) Explain the storage structures for arraj
detail.
(i) How can real data be represented in men
Explain.
Or
() () Write an algorithm for PUSH and
operation on two stacks stored in single ar:
(i) Convert the following infix expression

prefix expression using stack.

A+(B-C)* D'E*FAG+H).
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13.

14.

(a)

()

()

(a)

@) Write the algorithm to perform insertion and

deletion operation on circular queue. (10)
(i) Write, an algorithm to count the number of
nodes in a circularly linked list. 6)

Or

Which method is suitable for polynomial
manipulation? Write the procedures to add and
subtract polynomials using linked list. (16)

Write an iterative procedure for the following binary

tree traversal.
@ In-order. (8)

(i) Pre-order. ®

Or

Discuss the applications of tree with suitable
example. (16)

@ What are the different types of graph
traversals? Compare them. 8)

(iiy Write the advantages of adjacency matrix
representation of graphs. 8)

Or
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path.

(ii) Determine the critical path in the folloy
graph.

V, = Start vert
} Vi =End vert

s

15. (a) () Compare the different storage allocat
strategies.

(1))  Formulate an algorithm to allocate mem
using Next-fit method.

Or

()  Explain the structure of IBM indexed sequential |
and describe the direct processing of indes
sequential file with an algorithm. (





